Series JMS/1 SET-1

e E81/1/1

qe . el H1g F IT-IEH F G-
Roll No. q&mm%ﬁl

Candidates must write the Code on
the title page of the answer-book.

F1 Ste A {6 7@ - # qfd 9E 15 2|

. -7 # e @y A SR Ry g A TR # B IT-TEE % §E-E W
o

o FEN e S B - H 27 T 2

. mmwm%@mgﬁmﬁﬁugﬁ,mmmm%ﬁl

. T TH-TF F UG % fo70 15 e 1 e fear mn @1 wee-us e guie 3
10.15 &% R ST 10.15 &% & 10.30 53 T B Fad TH-TF H TG

3fit 70 srafy & 2 3 Ie-gfeds W HE IO TE e

+ Please check that this question paper contains 15 printed pages.
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written on the title page of the answer-book by the candidate.
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General Instructions :
(i) The question paper comprises five sections, A, B, C, D and E. You
are to attempt all the sections.
(ii) All questions are compulsory. . T o
(iii) Internal choice is given in sections B, C, D and E. <
" (iv) 'Question numbers 1 and 2 in Section-A are one mark questions.
They are to be answered in one word or in one sentence. :
(v) Question numbers 3 to 5 in Section B are two-marks questions.
" These are to be answered in about 30 words each.
(vi) Question numbers 6 to 15 in Section C are three-marks questions.
. These are to be answered in about 50 words each.
(vii) Question numbers 16 to 21 in Section D are five-marks questions.
These are to be answered in about 70 words each. _ 1-'-
(viii) Question numbers 22 to 27 in Section E are based on practical skills.
Each question is a two marks question. These are to be answ
brief.
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SECTION-A
foagga uftawr & freamdiet #1 #n % drar 7

What is the function of a galvanometer in a circuit ?

g (9 19) Fi ISP (IT9) S99 91 gy e 22

Why is biogas considered an excellent fuel ?

-4
SECTION-B

T8 8 FeATaa R S Tk & TR snyfes sed @it fafim aeai &
THIHT % Feagie ST gt s £ 7

HYAT
el dea =1 soraeie fowamd 2, 8, 4.2 ¢
(a) 39 sad Grofl § 39 e 6 gy FEn o rad e et
(b) 38 Tca %1 9 3R gHH T Hifoes qorend fafla|

How it can be proved that the basic structure of the Modern
Periodic Table is based on the electronic configuration of atoms of
different elements ?

OR

The electronic configuration of an element is 2, 8, 4. State its :
(a) group and period in the Modern Periodic Table.

(b) name and write its one physical property.

Sl YaH i & e o sl # 2 9 e & suead (frgve)
% 71 faftm &n fafaw) v & a9 amt saag )

Write two different ways in which glucose is oxidized to provide
energy in human body. Write the products formed in each case.
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YA 1 3g@ Fif ek Fw en g ¥ e # we 3w g
I g7 2 p 2
Define the term power of accommodation. Write the ‘modification

in the curvature of the eye lens which enables us to sce the nearby
objects clearly ?

HqTT-|
SECTION-C
6. Tt wm few & 2 g foea weiivge O 3@ go T F foogd &
SERTY H T T ]1 56 T W 3079 S Sar F01 7 B areht aarafie
aﬁ%mwaﬁammﬂﬁmwmﬁmmﬁﬁmﬁ
T YgEEE e 3

HIa1
i fog e e R # A A s % R @ e s
(a) Tor foream wmege @ srffir =ok fe T2 oin foear s 2|
e arEEs SRl
2 g of silver chloride is taken in a china dish and the china dish is
placed in sunlight for sometime. What will be your observation in

this case ? Write the chemical reaction involved in the form of a
balanced chemical equation. Identify the type of chemical reaction.

PO
Identify the type of reactions taking place in c¢ach of the following
cases and write the balanced chemical equation for the reactions.

(a) Zinc reacts with sﬂver mtrate to produce zinc nitrate and

silver.
(b) Potassium iodide reacts with lead nitrate to produce potassium
nitrate and lead iodide.
ot [S1Pad
311 4 _

Download from www.MsEducationTv.com




7

10'

31/1/1 5 P.T.

o e s wn Y T v R Sifem Fege W far g
aaﬁmmwaam%?géaﬁammwm%?aﬁam
fore w1 27

[dentify the acid and the base from which sodium chloride is
obtained. Which type of salt is it? When is it called rock salt? How
is rock salt formed?

aﬁ%mﬁ@m%mm,m%mmaﬁag&
0 gu, A fou o i % srfvee-a fafa:

(i) =9 (g9) 1 % acl = AFEES

(ii) @9E 13 % dcal H1 eeIgs

(iii) @8 2 % acF A 3 GYg 17 % acd B % WA 4 o AT

Based on the group valency of elements write the molecular
formula of the following compounds giving justification for each :

(i) Oxide of first group elements.
(ii) Halide of the clements of group thirteen, and

(iii) Compound formed when an element, A of group 2 combines
with an element, B of group seventeen.

& g ) s e % 9w fafew) s@e % o fatie a5
3@ Hifu

Write three types of blood vessels. Give one important feature of
each.

4 et % Fu Fi fofau St o sifEl # gy w wEeed
1 WA 2

Trace the sequence of events which occur when a bright light is
focused on your eyes.
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11. 9" i #=0 g &7 Frafafea % o e ey &6 % 9w

12.

ferfiaa ;

(i) @ i 3fg 4 gere

(ii) =TT favrs Y S

(i) 3fg =1 Tem

(iv) =iferk 61 owaé 7 3y § gerrw

What are plant hormones ? Name the plant hormones responsible
for the following :

(1) Growth of stem

(i) Promotion of cell division

(iii) Inhibition of growth

(iv) Elongation of cells

39 ured 1 AW fafae e swdi dea 3 oy vt § fn an s
3 ol R A e H W F A IR F, SN F, e &
gdfadl % #7 § YHR WW gu? F, @€t ¥ 3= ww Ot § s
fefau)

HUAT

Sk 1 UH-T ISR 30 g I 3R SEfi wait & e 2
= il gt TR

Name the plant Mendel used for his experiment. What type of
progeny was obtained by Mendel in F; and F, generations when he
crossed the tall and short plants? Write the ratio he obtained in F,
generation plants.

OR

List two differences between acquired traits and inherited traits by
giving an example of each.

317171 6
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14.

U FT 27 SRUAY ST g faw mitea ot dife

What is a rainbow? Draw a labelled diagram to show the formation
of a rainbow.

i % fuer £ guen & w5 & 0 3 e YER gEEdar #
HeRd 27 diF fafeat gImsel

HYAT
o Bt e ffa e wiie St -saTE g % fo st
I it
How can we help in reducing the problem of waste disposal ?
Suggest any three methods.

OR

Define an ecosystem. Draw a block diagram to show the flow of
energy in an ecosystem.

15. 1 SR R Fad 87 et T W I WUE ¥ getad & 9qQ

16.

Al g SETST) Seel h GUIf SuTEddn # STEEEdl & QB
ferfarm

What is water harvesting? List two main advantages associated
with water harvesting at the community level. Write two causes for
the failure of sustained availability of groundwater.

HAT-2

‘ SECTION-D

(a) A % w9 # 3 b TeEteE e g sy e
| ST T 7w uTg 37K 31eTg o o faie W wsd §

(b) Fr=fafaa % forg o i

(i) siferpin orqd frega w1 wefiif =rem Fd@ €
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(i) A=A (1) A5 [Fe,0;] H o vgfifam & @y
st 1 3wm Wi gl f o B et § fe
St 2
(a) List in tabular form three chemical properties on the basis of
which we can differentiate between a metal and a non-metal.

(b) Give reasons for the following:
(1) Most metals conduct electricity well.

(if) The reaction of iron (III) oxide [Fe,Os;] with heated
aluminium is used to join cracked machine parts.

39 A 1 AW 3R veEte g fafen Soodft e T gene
1 HECYUl 37T 2| 39 o ST G S50 B Aredl sAfaEa
&1 TS THTeRo aen 3edrg @ 919 feflge 9w 9 difies -
(i) wifeam g & Afufran s 2
(i) T HiE TR 3 | AR e 2
rEt
R T R? SR T de difev) s A § a A
e o g ferfiau) sa yaw & dfis
(i) forega & Fomes o
(i) =" e SR FH FUEIER a1 F4 A 87 F B4l 8 9 3G
IifireR =1 e § 28T g 27
Write the chemical formula and name of the compound which is

the active ingredient of all alcoholic drinks. List its two uses. Write

chemical equation and name of the product formed when this
compound reacts with —

(i) sodium metal

(i1) hot concentrated sulphuric acid

31/1/1 8
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OR

What is methane? Draw its electron dot structure. Name the
type of bonds formed in this compound. Why are such compounds:

(i) poor conductors of electricity ? and

(ii) have low melting and boiling points? What happens when this
compound burns in oxygen?

q ) afeery feRan) fafim yER ¥ sl f smen fifs
W % @) Uvel (ATEel) W gel STl SUgw W fRE SR
e o1 ol & S T R T 2 7 5

g9

(a) fiu M smE = TEEIFG) FEE AT 1 F S w
% & = fafau) -2
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(b) T frie fedt wea &7 mi-frwe faf
O % o el g e
Define pollination. Explain the different types of pollination. List
two agents of pollination ? How does suitable pollination lead to
fertilization ?
OR

(a) Identify the given diagram. Name the
parts 1 to 5.

(b) What is  contraception? | List three
advantages of adopting contraceptive
measures.
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19. #I% for 30 cm wia gt % forefi ofaaer &9 | 60 om gt W feum

2

(i) <9 gF 1 3974 Tk ow F wfafera Ait g 7ma Fifs

(ii) 38 Y01 § a4 ot yfafea % =n sifaeon (vefa, feaf,
TTEs, HiGr/3Ieer) =i e T8

(iii) W (i) ¥ fgu 7w o 3w At gfe & fore o s difs)

An object is placed at a distance of 60 cm from a concave lens of

focal length 30 cm.

(i) Use lens formula to find the distance of the image from the lens.

(i1) List four characteristics of the image (nature, position, size,

erect/inverted) formed by the lens in this case.

(111) Draw ray diagram to justify your answer of part (ii).

0. (a) forelt 3uzer afty s it werar @ 97 fag Hifse & gy §
| gt gfotel & @9g % qod SaUd 1 gohd 99% Sfauel &

SIeHHT & A F S e 2|

(b) et uftaer & 12 Q & 3 wfekius 6 V it d2hi * & @ wwdsn
T gifsa 81 ot @ <t € g 3| fifsu

HIa

yftay 8§ zwife sigEr 6 V A forelt et & 20 Q wfatia =1 =18
foea dm 4 Q w0y & = @ Wi 81 Fefafaa & am

gftefera shifs;
(a) T T FieT TR,
- (b) 9ftg # yanfeq m,
 (0) (i) Forega @ o
(i) I & B W
farvar=aT qur
(d) == =t wifth|
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(a) With the help of a suitable circuit diagram prove that the
reciprocal of the equivalent resistance of a group of resistances
joined in parallel is equal to the sum of the reciprocals of the
individual resistances.

(b) In an electric circuit two resistors of 12 Q each are joined in
parallel to a 6 V battery. Find the current drawn from the
battery.

OR

An electric lamp of resistance 20 Q and a conductor of
resistance 4 Q are connected to a 6 V battery as shown in the
circuit. Calculate :

(a) the total resistance of the @
circuit,

(b)the current through the

circuit, A

(¢)the potential difference
across the (i) electric . Y K
lamp and (ii) conductor, 1 Héﬂvﬂi (D~
and

(d)power of the lamp.

21. uftfers R wea 87 (i) forelt amramdt afenferen oii (i) forelt @8
e ) grah & Yarat w1 e smifa i) 3 G & %
fasgaerTl @eon 1 gt SAEY) 5

What is a solenoid ? Draw the pattern of magnetic field lines of
(i) a current carrying solenoid and (ii) a bar magnet. List two
distinguishing features between the two fields.
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Q, +[=]

3111 11 [P

Download from www.MsEducationTv.com




Hqrr-a
SECTION-E

22, 3 wwEAlrEl A 3t B f5d A a9 HCl 3R NaOH faemm i 8, 4

et foewm =1 faegs e mn 21 @9 @ o waeet 9 @ §
yftgds fewrd 2m? 3§ 1 gftedd &1 Ig@ Fifsu ofit @ wnw
i)

HaAT

ot T oiR o s, o 1 g wifgam wEiEe fam mn 2,
2mL T FEGIFCANG ot fHel O ST 1 Qe g 27 B ared
srfufsran =1 vamafis g fHfa

Blue litmus solution is added to two test tubes A and B containing
dilute HCI and NaOH solution respectively. In which test tube a
colour change will be observed? State the colour change and give

its reason.
OR
What is observed when 2 mL of dilute hydrochloric acid is added

to | g of sodium carbonate taken in a clean and dry test tube? Write

chemical equation for the reaction involved.

23, @9 @At A, B 3 C H swws: i fafte ga-amga 5@, o

3N Hga s o v g Sfeaan aee gen 2, fau e # | e
'rEet § U AT ® G o e frerss weftvifa feamn mn 2
W | ford graeelt # g i ervand sAfeerag @it e eme 3e i qfe
Hifs)
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24.

25.

In three test tubes A, B, and C, three different liquids namely,
distilled water, underground water and distilled water in which a
pinch of calcium sulphate is dissolved; respectively are taken.
Equal amount of soap solution is added to each test tube and the
contents are shaken. In which test tube will the length of the foam

(lather) be longest ? Justify your answer.

¢ o PR gevesf d aeht % foe F STEuR TR w1 Y& W
T 2| geaesl § Ry sEn i A w5 e s wife)

HUET
713el # geger # 2w % fou sfea s & qmifea sma g

A student is observing the temporary mount of a leaf peel under a
microscope. Draw labelled diagram of the structure of stomata as

seen under the microscope.
OR

Draw a labelled diagram in proper sequence to show budding in
hydra.

“vag $1 smafy § CO, Fwad 2w wgim i g sEeer § 39
qared &1 A feflae @ vEarr weres § T o et § foran
AT 21 39 uEred &1 e 39 gEe 3w % it w1 3g@ A
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26.

In the experimental set up to show that “CO; is given out during
respiration”, name the substance taken in the small test tube kept in

the conical flask. State its function and the consequence of its use.

fereft wfetieres @ wanfea amr (1) W 37 gfatys * & w fGwEea (V)
1 ol &1 sreEm w0 ma gfotus w1 iy @@ w3 F o
et B 3 uw & s ol & fou 5 gears s Vo [ % &=
e i1l I8 U g g § O ATl 5 W@ 91 98 A6
gfea a1 87 39 U6 1 ST Fh Sfelius F1 gfoiy Feifa wE
i fafer fafiau)

HYgar

3u feufa & a1 foreh B 1 1 gra o & 98 9% urar @ 6 ufto
gar B W oft e ot dicediey % Tehadh/GEAl Tk 9Nl W
fera v foml o warelt 7 € 7 warmmen § sifafte snfiey/ Seedie
39T ol &l

While studying the dependence of potential difference (V) across a
resistor on the current (I) passing through it, in order to determine
the resistance of the resistor, a student took 5 readings for different
values of current and plotted a graph between V and I. He got a
straight line graph passing through the origin. What does the
straight line signify? Write the method of determining resistance of

, the resister using this graph.

31/11 14
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OR

What would you suggest to a student if while performing an
experiment he finds that the pointer/needle of the ammeter and
voltmeter do not coincide with the zero marks on the scales when
circuit is open? No extra ammeter/voltmeter is available in the

laboratory.

27. 3 90 grEea f gE e e e el e w39 wng
1 =Ifen 59 77w e e dw A v gl et qry i &
fafenar =i foreft 98 o e fuifa w2

List four precautions which a student should observe while
determining the focal length of a given convex lens by obtaining

image of a distant object on a screen.
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